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() {2 x + 3 y =5
x + 2 =

(2) {2x - 3 y = -1

x + 2 = -2
(3) { 4 x - 5y = -18
2 x + 3 = 2
(4) 3 x + 5 y = 14
'{ 6 - 3 y =15
(5) { 2 x + 7y = -26
x - y = -12
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(n 2 x + y =5 ®
t x + y = 4 @
O x 1 - @ x 2 T,
2 x + 3 y =
- ) 2 x + 4 y =8
-y = -3
y =3
y =3 TQILRALT,
x + 2 X 3 = 4
x = =2 x = =2 y =3
(2) 2 x - 3 y = -1 -0
t x + y = =2 @
O x 1 - @ x 2 T,
2 x - 3 y = -l
- ) 2 x + 4 y = -4
-7y = -7
y = |
y = | @IZRAL T,
x + 2 = -2
X = -4 x = -4 y =
(3) 4 x - 5 y = -18 @
{ 2 x 4+ 3 y = 2 ®
O - @ x 2 T,
4 x - 5 y = -18
- ) 4 x + 6 y =4
-1y = =22
y = 2
y = 2 TOITRALT,
4 x - 5 X 2 = -18
x = =2 x = =2 y = 2

SERCHEZ B PR T
http://chugaku. manabihiroba. net/ 2



LRV N

(4) 3 x + 5y = 14
{6x—3y=l5
® x 2 - @ <,
6 x + 10 y = 28
-) 6 x — 3 y =15
13 y = 13
y =1
y =1 rOITKRALT,
3 x + 5 X | = 14
x = 3
(5) 2 x + 7 y = -26
{5x—qy=—|2
® x5 - @ x 27,
10 x 4+ 35 y = -130
- ) 10 x — 18 y = -24
53 y = -106
y = -2
y = -2 FOITRAL T,
2 x 4+ 7 X ( -2 ) = -26
x = -6
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